
1)  What number is represented by the decimal model?  





A.  67	


B.  0.67


C.  6.7


D.  .067





7)  Solve.  





A.  3.64





B.  0.6





C.  1.4





D.  6.0





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





7)





8)  





2)  There are 82 boys and 112 girls.  How many more girls than boys are there?  





F.  194


G.  172


H.  40


J.   30





3)  Which metric unit would you use to measure the capacity of a bucket?








A.  liter


B.  quart


C.  milliliter


D.  gallons





4)  Identify the improper fraction.  





F.  


G.  


H.  


J.  





5)  The movement shown is a______________.  





translation


rotation


reflection


boogie














 














6)  21 divided by a number is 3.  Which fact is part of the same fact family?  








 




















 





8)  There are 4 lunches.  The least expensive is $3.  The most expensive is $7.  What is the most you will spend?  








$24


$28


$12


$16





Name______________________________  Date_______________
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





























 





 
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